Adding 2-Digit Numbers with Regrouping

Class

& TP E O G e e _.”O"O‘0‘0‘0‘"0‘0‘0‘"‘0‘Q‘“O‘Q‘.‘O‘O““O‘O‘G“G‘“@‘0‘0‘“.““0‘.".".‘0‘0‘ m
The model shows how to find the sum of 33 and 29. & : E
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sum. Regroup as needed.
19+24

19
+ 24

£ € 45+38 @ v+

*

Al thve digiiles im the tens column. Write the sum in the
e column under the equal bar.




Adding Three 2-Digit Numbers
with Regrouping

Date

The model shoax
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the sum

Write

@ 71+39+49
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30
36
28

30 +36+28

the tens column under the equal bar.

Add the digits in the tens column.
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Adding 3-Digit Numbers with Regrouping

86 + 75 + 50

276 + 110 + 293 325 + 479 + 321
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The model shows how 1 f nd the sum of 326 and 285.

@@&@@-@-@@@@@@0@99@@@@

hundreds tens




each sum. Regroup as needed.

@ 471

+ 757

Using Symbols

1. 4524567 + 128
452

567

@ 243 +449 + 111




Adding Multi-Digit Numbers
with Regrouping

38+76+ 26
38

7800 + 3,000 =

76 +
+ 26

Expanded notation of 7,326: 7,000 + 300 + 20 + 6
Expanded notation of 3,173: 3,000 + 100 + 70 + 3

7,826 + 6,383 2,348,347 + 94117
7,826
+ 6,383 +
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Find the sum of 7:326 and 3,173. | .ﬁ F
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Find each sum. Regroup as needed.

€ 112,771 + 81,668 @ 4413510 + 378,746
112,771 4,413,510
+ 81,668 + 378,746
@y 14911+ 959 - € 91,717+ 868 + 8,306
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1. 74,345 + 37,209 ~ White the problem vertically. Line up the
74,345 . digits with the same place value in

e e %
e it ae e
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Continue adding the digits in the next

+ 37,209 columns, going from right to left. If the
111554 sum has more than one digit, regroup.

$0,74,345 + 37,209 = 111,554.




Estimating Sums

327 — 300 & 562+ 822+ 571
526 — 500 562 —

+779 — + 800 822 —»

+ 571 — +
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Estimate the sum of 174 and 726. & THE
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e each sum
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€ 212+333+176

212 —>

555 —>

333 —
+ 176 — +

921 —>
+ 517 —> +
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Round each number to its greatest

place value.

70

784 — 800
+ 209 — +200

6/ —>

B. 67 + 784 + 209
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Subtracting 2-Digit Numbers
with No Regrouping

Date
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The model shows how to find the difference of 53 and 52. . - : ETIE
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Subtracting 2-Digit Numbers
with Regrouping

Date

tens and ones tensamd ones
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o The model shows how to find the difference of 81 and 15. &' ;THIE
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* Subtract 2-Digit Numbers with Regrouping
! UsingSymbols Using Wor

1. 90 — 18 Write the problem vertically. Line up the

digits that have the same place value.

Sxnm. 7 = Subtracting 2-Digit Numbers with Regrouping




Subtracting 3-Digit Numbers
with 1 Regrouping

Milmme Class Date

___bhundreds ___tens __ ones ___hundreds ___ tens

305 —104 305 : 305 — 262 305
— 104 — 262

824 — 618 824
— 618
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The model shows how ta find the difference of 327 and 108.
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each difference. Regroup as needed.

657 QG 477
— 549

Using Words

1. 761 — 538 Write the problem vertically. Line up digits that have
the same place value.

787 If the tens digit of the top number is less than the
tens digit of the bottom number, regroup. Subtract
the digits in the tens column.




